F Fo
s’m’% t ” Hﬁ YMHO)UTH necatuunblie 1podu Ha 10,100,1000

WUms: Jata: ___ Ouenka:___
6, 534 x 1000 = 5,174 x 100 =
4,754 x 1000 = 4,256 x 100 =
9,528 x 10 = 4,771 x 1000 =
8,824 x 100 = 6,167 x 10 =
3,065 x 10 = 10, 104 x 1000 =
6,435 x 100 = 3,62 x 1000 =
3,883 x 100 = 1,758 x 1000 =
5,155 %10 = 8,861 x 100 =
10,917 x 10 = 6,427 x 10 =
9,345 x 10 = 10,667 x 10 =
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# Ba®

YMHOXUTH AecaTudnble apoou Ha 10,100,1000

Nwms:

6, 534 x 1000 = 6534

4,754 x 1000 = 4754

9,528 x 10 = 95.28

8,824 x 100 = 882.4

3,065 x 10 = 30.65

6,435 x 100 = 643.5

3,883 x 100 = 388.3

5,155 x10=51.55

10,917 x 10 = 109.17

9,345 x 10 =93.45

Jlara: Orenka:

5,174 x 100 = 517.4

4,256 x 100 = 425.6

4,771 x 1000 = 4771

6,167 x 10 =61.67

10, 104 x 1000 = 10104

3,62 x 1000 = 3620

1,758 x 1000 = 1758

8,861 x 100 = 886.1

6,427 x 10 = 64.27

10,667 x 10 = 106.67
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